
1) 09:26 am To 03:39 pm

Answer: ____________

2) Solve by factorising 
q2 + 5q + 6 = 0

Answer: ____________

3) 50 ÷ 10

Answer: ____________

4)
32

4 /10

Answer: ____________

5) Find the percentage change from 10 to 
27

Answer: ____________

6) Find the median of the following set of data:

36, 39, 9, 8, 2, 8, 31, 13, 28

Answer: ____________

7) (-46) + (-25)

Answer: ____________

8) Share 16 in the ratio 6:2

Answer: ____________

9) Find the median of the following set of data:

22, 28, 5, 22, 7, 39, 16, 2

Answer: ____________

10) Find the median of the following set of data:

22, 28, 5, 22, 7, 39, 16, 2

Answer: ____________

11) Round 13.24023 to the nearest whole 
number.

Answer: ____________

12) 31.7 - 59

Answer: ____________

13) 4/6 + 10/2

Answer: ____________

14) 4/6 + 10/2

Answer: ____________

15) Find the mode of the following set of data:

23, 23, 30, 30, 30, 45, 45

Answer: ____________
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16) 58.1 ÷ 8.3

Answer: ____________

17) 58.1 ÷ 8.3

Answer: ____________

18)
Find the next three numbers in 
the sequence
0,1,1,2,3,5,8__,__,__

Answer: ____________

19) Increase 114 by 1/19

Answer: ____________

20) Solve by factorising 
s2 - 11s + 10 = 0

Answer: ____________

Total: ___ / 20
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Answers:

1) 06 Hours 13 Mins 2) q = -2 or -3 3) 5 4) 4 5) 170% 6) 2 7) -71

8) 2 : 14 9) 14.5 10) 14.5 11) 13 12) -27.3 13) 52/3 14) 52/3

15) 30 16) 7 17) 7 18) 13,21,34, 19) 120 20) s = 10 or 1
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